
XR Engines

Quality and value, 
trusted for over   
a century.
XR 3.5 - 13.5 Gross HP* 
Gasoline Engines



XR Series gasoline engines: 
reliable, durable, powerful.
The Briggs & Stratton® XR Series of commercial engines are reliable and durable, designed to generate power 
for industries such as construction, industrial, landscaping, power generation and railway.

Long engine life
The XR engine utilizes various commercial design features to increase its robustness and durability.
Components such as the cast iron cylinder sleeve, forged crankshaft and dual ball bearings have effectively
extended engine life, enabling long-lasting use of the engines. Harsh laboratory tests and site examinations
further ensures the XR engine’s outstanding performance in machinery.

Easy start 
Carefully configured and optimally designed, the carburetor, large inertia machinery decompression device
and high-energy ignition system equipped the XR engine with excellent starting performance. Whether it is
in a cold or hot state, the engine can start effortlessly.

Robust power 
The OHV and combustion chamber with computer-aided design boosts the engine’s combustion efficiency,
strengthening its power output and reducing fuel consumption.

XR 3.5 XR 5.0 XR 6.5 XR 10.0 XR 13.5
Model 0831 1062 130G 19N1 25T2

Gross Power  
(HP)*@3600rpm 3.5 5.0 6.5 10.0 13.5

Displacement (cc) 127 163 208 306 420
Bore x Stroke (in) 2.44 x 1.65 2.68 x 1.77 2.76 x 2.13 3.23 x 2.28 3.54 x 2.6

Fuel capacity (gal) 0.5 0.8 0.8 0.8 1.709
Oil capacity (oz) 20 20 20 37 37

Weight (lbs) 29.5 33.6 33.5 57.4 71.6
Measurements  
(L x W x H) (in) 10.1 x 13.4 x 13.4 11.3 x 14.6 x 14.0 11.3 x 14.4 x 14.9 12.6 x 17.0 x 16.5 14.5 x 18.1 x 18.3

Optional 
Configurations

6:1 gear reduction Oil bath air filter
Plate air filter

Oil bath air filter 
Plate air filter
2:1 gear reduction
12V electric start
1.5A & 3A alternator
6:1 gear reduction

Plate air filter
12V electric start
3A & 10A alternator

Plate air filter 
12V electric start
3A & 10A alternator 

2-Year Commercial Warranty, 2-Year Consumer Limited Warranty*** 
* Power levels are stated gross horsepower per SAE J1940 as rated by Briggs & Stratton.
** Briggs & Stratton reserves the right to change product specifications without prior notice.
*** See briggsandstratton.com for warranty information.



66
OIL GAGE
REMOVAL

326

299

150

106

65.1

65.1

66

155

136

R146
MUFFLER GUARD
RADIAL CLEARANCE

92

4545

EXHAUST 
DEFLECTOR
(OPTIONAL)

5X M8X1.25-6H 15
OR .312-24 UNF-2B 15

MOUNTING HOLE 

79

123

263

328

162

115.5

MOUNTING HOLE 

CUSTOMER MOUNTING 
SURFACE

IGNITION GROUND:
AMP #480350 Mate-N-Lok
CONNECTOR

315

299

MOUNTING HOLE 

Side PTOTop

19.843 0
-0.013

19.177 0
-0.25

21

72.04 0.37

188
DISTANCE TO
FRONT MOUNTING HOLES

5.4

19.7

34

.312"-24 UNF-2B  16

19.05 0
-0.025

45.5+0.8
 0

58.5

25

8.5

5

4.78 0
-0.03

16.36 0
-0.1

61.54 0.37

177.5
DISTANCE TO
FRONT MOUNTING HOLES

.312"-24 UNF-2B 20

19.05 0
-0.025

45.5+0.8
 0

58.5

25

8.5

5

4.78 0
-0.03

16.36 0
-0.1

61.54 0.37

177.5
DISTANCE TO
FRONT MOUNTING HOLES

.312"-24 UNF-2B 20

19.05 0
-0.025

45.5+0.8
 0

58.5

25

8.5

5

4.78 0
-0.03

16.36 0
-0.1

61.54 0.37

177.5
DISTANCE TO
FRONT MOUNTING HOLES

.312"-24 UNF-2B 20

15 0
-0.1

5+0.03
 0

35+0.8
 0

50

5

18-0.016
-0.0438.5

53.04 0.37

169
DISTANCE TO
FRONT MOUNTING HOLES

28
M8X1.25-6h 23

22.5
FULL THREAD
 

58.5

177.5 
DISTANCE TO
FRONT MOUNTING HOLES

.625"-18 UNF-2A RH

61.54 0.37

15.87 0
-0.018

3/4" straight keyway shaft 5/8" straight keyway shaft 5/8" straight keyway shaft

18mm straight keyway shaft 5/8" external thread shaftSAE tapered shaft

0.00

0.50

1.00

1.50

2.00

2.50

0.00

0.50

1.00

1.50

2.00

2.50

3.00

3.50

4.00

2000 2200 2400 2600 2800 3000 3200 3400 3600

kW
 

H
or

se
po

w
er 

RPM 

0831 3.5 HP Gross Power Gross Power*

XR 3.5 Gross HP*



XR 5.0 Gross HP*

Side PTOTop

3/4" Straight Keyway Shaft 20mm Straight Keyway Shaft

5/8" External Thread Shaft7/8” Tapered Shaft

Gross Power*

0

1.00

2.00

3.00

4.00

5.00

6.00

0

0.50

1.00

1.50

2.00

2.50

3.00

3.50

4.00

 2000 2200 2400 2600 2800 3000 3200 3400 3600

H
O

R
SE

P
O

W
ER

kW

RPM

1062 5.0 HP Gross Power



12.44

75.5

106

306.16

4513.21

CUSTOMER MOUNTING SURFACE

351.42

147.21

135.7

32.5332.53

32.53

32.53

344.45

161.99

103.07 242.99

88.3

( 92.01)

LOW OIL FILL

LOW OIL FILL

METRIC COVER - 4X M8 X 1.25-6H
 
SAE COVER - 4X .312-24 UNF-2B

METRIC COVER - 4X M8 X 1.25-6H
 
SAE COVER - 4X .312-24 UNF-2B

OIL SEAL IS RECESSED 2.5 0.25
FROM MOUNTING SURFACE

DEFLECTOR SCREW TORQUE:
0.9 - 1.35 Nm

14.76

61.5

45.5+0.8
 0

16.36 0
-0.15

 

4.78 0
-0.05

19.05 0
-0.021

30 MIN

37 MAX

2.9

116 TO FRONT
MOUNTING HOLES

.312-24 UNF-2B

Side PTOTop

3/4" Straight Key 20mm Straight Key

3/4" Taper Key7/8" Straight Key

Gross Power*

52.9

24 MIN

31 MAX

35+0.8
 0

20 0
-0.021

17 0
-0.15

5+0.05
 0

2.9

M8 X 1.25-6h

116 TO FRONT
MOUNTING HOLES

80.3116 TO FRONT
MOUNTING HOLES

26.92 MIN

34.92 MAX

57.1+0.8
 0

22.225 0
-0.021

19.69 0.1

4.78 0
-0.05

9.2

.375-24 UNF-2B

71.7116 TO FRONT
MOUNTING HOLES

20 MIN

27 MAX

19.8 0
-0.021

19.1 0
-0.021

35 0.15

49.58 0.13

68.8 0.15

19.05 GAGE

49.85 0.13
GAGELINE

2.9

.312-24 UNF-2B

 2000 2200 2400 2600 2800 3000 3200 3400 3600

H
O

R
SE

P
O

W
ER

kW

RPM

0

1.00

2.00

3.00

4.00

5.00

6.00

7.00

0

0.50

1.00

1.50

2.00

2.50

3.00

3.50

4.00

XR 6.5 Gross HP*

130G 6.5 HP Gross Power



XR 10.0 Gross HP*

2X 86
OIL DIPSTICK

REMOVAL

340
OIL DIPSTICK

REMOVAL

168

390

416

374

196

R140
MUFFLER GUARD
RADIAL CLEARANCE

165.1
BOLT CIRCLE

133.5

90.5

127
BOLT CIRCLE

92
BOLT CIRCLE

35

35

103

4.5 DEPTH (PILOT)
107+0.5

 0

DEPTH (PILOT)
146 0

-0.063

4X METRIC COVER = 5/16-24 UNF-2B 18
     SAE COVER = 5/16-24 UNF-2B 18

4X METRIC COVER = M8 X 1.25-6H 18
     SAE COVER = 5/16-24 UNF-2B 18

4X METRIC COVER = M8 X 1.25-6H 18
     SAE COVER = 3/4-16 UNC-2B 18

32.53 32.53

44.81 44.81

58.558.5

45

30

45

30

58.5

71.5

44.81
32.53

44.81
32.53

EXHAUST DEFLECTOR 
(OPTIONAL)

SEE DETAIL  A

DETAIL  A
SCALE  1.000

2X METRIC COVER = M8 X 1.25-6H 18
     SAE COVER = 5/16-24 UNF-2B 18 

MOUNTING HOLE 

4 +0.1
 0

113
EXHAUST
OUTLET 

184

153.5

175

423

353
EXHAUST
OUTLET 

149.5
OPTIONAL CUSTOMER

MOUNTING BOSSES

61

CUSTOMER MOUNTING 
SURFACE

MOUNTING HOLE 

4
OIL DIPSTICK

OVERHANG

32
WIRE GUARD

OVERHANG

CUSTOMER MOUNTING SURFACE

Side PTOTop

3/4" Straight Keyway Shaft 1” Tapered Shaft

25mm Straight Keyway Shaft1” External Thread

Gross Power*

3.00

4.00

5.00

6.00

7.00

8.00

4.00

5.00

6.00

7.00

8.00

9.00

10.00

11.00

2000 2200 2400 2600 2800 3000 3200 3400 3600

kW
 

H
or

se
po

w
er 

RPM 

58.6

64.03 0.65

45.5 0.5

5

33

10.5

218
DISTANCE TO
FRONT MOUNTING HOLES

4.78 0
-0.03

16.36 0
-0.15

19.05 0
-0.025

.375"-24 UNF-2B  26

85

25.4
FULL THREAD25.4-0.01

-0.03

243.1
DISTANCE TO
FRONT MOUNTING HOLES

89.13 0.65

1"-14 UNF-2A 42

62.83 0.65

37

5

216.8
DISTANCE TO
FRONT MOUNTING HOLES

8.5

21 0
-0.15

7+0.05
 0

25 0
-0.025

60 0.3

M8X1.25-6H  30

56 0.3

6.3+0.05
 0

21.82 0
-0.13

12

25.4 0
-0.025

88.33 0.65

72.2

5

242.3
DISTANCE TO 
FRONT MOUNTING HOLES

37

 .438"-20 UNF-2B 30

19N1 10.0 HP Gross Power



XR 13.5 Gross HP*

126
BOLT CIRCLE

2X 86
OIL DIPSTICK

REMOVAL

R195
MUFFLER GUARD
RADIAL CLEARANCE

438

392

203

90.5

2X 58.5

2X 103

35

35

133.5

45 45

DEEP (PILOT)
146 0

-0.1

DEEP (PILOT)
108.46+0.08

 0

2X 71.5

165
BOLT CIRCLE

44.5 44.5

41.341.3

58.558.5

EXHAUST DEFLECTOR
(OPTIONAL)

MOUNTING HOLE 

SEE DETAIL  A

DETAIL  A
SCALE  1.000

4X METRIC COVER = M8 X 1.25-6H 18
     SAE COVER = 5/16-24 UNF-2B 18 

4X METRIC COVER = M8 X 1.25-6H 18
     SAE COVER = 3/8-16 UNC-2B 18

2X METRIC COVER = M8 X 1.25-6H 18
     SAE COVER = 5/16-24 UNF-2B 18 4+0.2

 0

5+0.2
 0

140.5
EXHAUST
OUTLET 

226

364
EXHAUST
OUTLET 

444

196

76

171.9
OPTIONAL CUSTOMER

MOUNTING BOSSES

175.9

MOUNTING HOLE 

IGNITION GROUND:
AMP #480349 MATE-N-LOK
CONNECTOR

CUSTOMER MOUNTING 
SURFACE

50
WIRE GUARD
OVERHANG

CUSTOMER MOUNTING 
SURFACE

Side PTOTop

1" Straight Keyway Shaft 25mm Straight Keyway Shaft

SAE Taper Shaft

Gross Power*

kW
 

H
or

se
po

w
er 

RPM 

6.3+0.05
 0

21.82 0
-0.13

25.4 0
-0.025

72.2

56 0.5

12

5

35

264.5
DISTANCE TO 
FRONT MOUNTING HOLES

88.58 0.51

1 X 45
.438"-20 UNF-2B 30

21 0
-0.1

7+0.05
 0

60

239
DISTANCE TO
FRONT MOUNTING HOLES

5

35

11

25 0
-0.025

63.08 0.51

42 0.5
M8X1.25-6H 30

5.4

281.9
DISTANCE TO FRONT
MOUNTING HOLES

9

22.161 0
-0.025

105.98 0.51

29

75.4

26

5

.312"-24 UNF-2B 19

3.00

4.00

5.00

6.00

7.00

8.00

9.00

10.00

4.00

5.00

6.00

7.00

8.00

9.00

10.00

11.00

12.00

13.00

14.00

2000 2200 2400 2600 2800 3000 3200 3400 3600

25T2 13.5 HP Gross Power



BRIGGSandSTRATTON.com

Briggs & Stratton has a policy of continuous product improvement 
and reserves the right to modify its specifications at any time and 
without prior notice. Product may vary from images shown.

BRIGGS & STRATTON
POST OFFICE BOX 702
MILWAUKEE, WI 53201 USA

Copyright ©2022. All rights reserved.


